Hw 1 Solutions

$$\begin{pmatrix} l \\ a \end{pmatrix} \\ \stackrel{\infty}{=} \frac{\lambda}{2^{n-1}} = \lambda \sum_{h=1}^{\infty} \left(\frac{\lambda}{2}\right)^{n-1} = \lambda \left[ \left(\frac{\lambda}{2}\right)^{n} + \left(\frac{\lambda}{2}\right)^{n} + \left(\frac{\lambda}{2}\right)^{n+1} \right] \\ = \lambda \sum_{h=0}^{\infty} \left(\frac{\lambda}{2}\right)^{n}$$

This is a geometric series. Recall that  $\sum_{n=0}^{\infty} c_{onumbers}$  iff  $| z | < l_{s}$ with sum equal to  $\frac{1}{1-2}$  if it Here we have  $Z = \frac{1}{2}$  and  $|Z| = \left|\frac{1}{2}\right| = \frac{1}{2} < 1$ . Thus,  $\sum_{n=1}^{\infty} \frac{-n}{2^{n-1}}$  converges to the sum  $\sum_{n=1}^{\infty} \frac{1}{2^{n-1}} = \sum_{n=1}^{\infty} \left(\frac{1}{2^n}\right)^n = \sum_{n=1}^{\infty} \frac{1}{1-\frac{1}{2^n}} = \frac{1}{2^n} \frac{1}{2^n-\frac{1}{2^n}}$  $= \frac{2\lambda}{2-\lambda}$ 

(b) We have that  $\sum_{n=3}^{\infty} \frac{c+1}{z^{n}\pi^{n+3}} = (c+1) \sum_{n=3}^{\infty} \frac{1}{z^{n}\pi^{n+3}}$  $= (e+i) \left[ \frac{1}{2^3 \cdot \pi^6} + \frac{1}{2^4 \cdot \pi^7} + \frac{1}{2^5 \cdot \pi^8} + i \right]$  $= (e+i) \frac{1}{2^{3} \pi^{6}} \left[ 1 + \frac{1}{2^{i} \pi} + \frac{1}{2^{2} \cdot \pi^{2}} + \cdots \right]$  $= (e+\iota) \frac{1}{2^{3} \cdot \pi^{6}} \sum_{n=0}^{\infty} \frac{1}{2^{n} \pi^{n}} = (e+\iota) \frac{1}{2^{3} \cdot \pi^{6}} \sum_{n=0}^{\infty} \left(\frac{1}{2 \cdot \pi}\right)^{n}$ Note that  $\left|\frac{1}{2\pi}\right| \approx 0.16 < 1$ . Thus, this geometric series converses to  $(e+1) \frac{1}{2^{3} \cdot \pi^{6}} \cdot \left( \frac{1}{1-\frac{1}{2\pi}} \right) = \begin{pmatrix} 1 \\ (e+1) \frac{3}{2} \cdot \pi^{6} \\ Z' \cdot \pi^{6} \end{pmatrix} \left( \frac{2\pi}{2\pi} \right)$ 

()(c)Note that  $\sum_{n=0}^{\infty} \frac{10^{n+1}}{2^{n} \sqrt{3}^{n+3}} = \frac{10^{1}}{2^{n} \sqrt{3}^{3}} + \frac{10^{2}}{2^{1} \sqrt{3}^{n}} + \frac{10^{3}}{2^{2} \sqrt{3}^{2}} + \frac{10^{3}}{2^$  $= \frac{10}{\sqrt{3}^{3}} \left[ 1 + \frac{10'}{2' \cdot \sqrt{3}} + \frac{10^{2}}{\sqrt{2^{2} \cdot \sqrt{3}}} + \frac{10^{2}}{\sqrt{2^{2} \cdot \sqrt{3}}}$  $= \frac{10}{\sqrt{3}} \sum_{n=0}^{\infty} \frac{10^{n}}{2^{n}\sqrt{3}} = \frac{10}{\sqrt{3}} \sum_{n=0}^{\infty} \left(\frac{10}{2\sqrt{3}}\right)^{n}$ Note that  $\frac{10}{2\sqrt{3}} \approx 2.89 > 1$ . Thus, the above geometric series diverges.

$$\begin{array}{l} (d) \quad \text{Note that} \\ \lim_{n \to \infty} \left( \frac{(1+i)^{n}}{5+(1+i)^{n}} \right) = \lim_{n \to \infty} \left( \frac{1}{\frac{5}{(1+i)^{n}}+1} \right) \\ \lim_{n \to \infty} \left( \frac{5}{5+(1+i)^{n}} \right) = \lim_{n \to \infty} \left( \frac{15}{(1+i)^{n}} \right) \\ \text{Also} \\ \lim_{n \to \infty} \left| \frac{5}{(1+i)^{n}} \right| = \lim_{n \to \infty} \frac{15}{1(1+i)^{n}} \\ \lim_{n \to \infty} \frac{5}{1(1+i)^{n}} = \lim_{n \to \infty} \frac{5}{\sqrt{2^{n}}} = 0 \\ \lim_{n \to \infty} \frac{5}{(1+i)^{n}} = 0. \quad \text{elim lanl= 0 iff} \\ \lim_{n \to \infty} a_{n} = 0 \\ \text{So, lim} \quad \left( \frac{(1+i)^{n}}{5+(1+i)^{n}} \right) = \frac{1}{0+1} = 1 \neq 0. \\ \text{So, by the divergence theorem, } \sum_{n=1}^{\infty} \frac{(1+i)^{n}}{5+(1+i)^{n}} \\ \text{diverges.} \end{array}$$

(I)(e)We need to use partial fractions here. Let's solve  $\frac{1}{n(n+1)} = \frac{A}{n} + \frac{B}{n+1}$ which becomes (\*) I = A(n+1) + BnThis must be true for all n. Plug in n=-1 into (+) to get | = A(o) + B(-1)B = - 1 Plug in n=0 into (\*) to get | = A(1) + B(0)

A=1.

Thus,  

$$\frac{1}{n(n+1)} = \frac{1}{n} - \frac{1}{n+1} \quad \text{for } n \ge 1.$$

Let's look at the partial sums  

$$Let's \ look \ at \ the \ partial \ sums$$

$$S_{k} = \sum_{n=1}^{k} \frac{1}{n(n+1)} = \sum_{n=1}^{k} \left[ \frac{1}{n} - \frac{1}{n+1} \right]$$

We have that  

$$S_{1} = \left(\frac{1}{1} - \frac{1}{2}\right) = 1 - \frac{1}{2}$$

$$S_{2} = \left(\frac{1}{1} - \frac{1}{2}\right) + \left(\frac{1}{2} - \frac{1}{3}\right) = 1 - \frac{1}{3}$$

$$S_{2} = \left(\frac{1}{1} - \frac{1}{2}\right) + \left(\frac{1}{2} - \frac{1}{3}\right) + \left(\frac{1}{3} - \frac{1}{4}\right) = 1 - \frac{1}{4}$$

$$S_{3} = \left(\frac{1}{1} - \frac{1}{2}\right) + \left(\frac{1}{2} - \frac{1}{3}\right) + \left(\frac{1}{3} - \frac{1}{4}\right) = 1 - \frac{1}{4}$$

- •

$$T_{n} \quad general$$

$$S_{k} = \left| -\frac{1}{k+1} \right|$$

$$J_{0}, \quad k = \frac{1}{n(n+1)} = \lim_{k \to \infty} S_{k} = \lim_{k \to \infty} \left( 1 - \frac{1}{k+1} \right)$$
$$= \lim_{k \to \infty} \left( 1 - \frac{1}{k+1} \right)$$
$$= 1 - 0$$
$$= 1$$
$$Thus \quad \sum_{n=1}^{\infty} \frac{1}{n(n+1)} \text{ converges and}$$
$$\frac{\infty}{2} = \frac{1}{n(n+1)} = 1.$$

2) If no=1, the series are the same, Suppose no 71. be the partial Let  $S_{k} = a_{1} + \dots + a_{k}$ sums of \$an and be the partial  $S_{k} = a_{n} + a_{n+1} + \dots + a_{n+k}$ sums  $\mathcal{O}_{n=n_{0}}^{\infty}$ (=D) Suppose  $\sum_{k=1}^{\infty} a_k$  exists. Then, lim sk=s for some sec.  $S_{n_{o}+k} = a_{1} + a_{2} + \dots + a_{n_{o}-1} + a_{n_{o}} + a_{n_{o}+1} + \dots + a_{n_{o}+k}$  $= \alpha_1 + \alpha_2 + \dots + \alpha_{n_0-1} + S_{k_1}$ = W + Skwhere  $w = a_1 + a_2 + \dots + a_{n-1}$  is a fixed complex number.

 $\lim_{k \to \infty} S_{k} = \lim_{k \to \infty} \left( S_{n, +k} - \omega \right) = \left( \lim_{k \to \infty} S_{n, +k} \right) - \omega$ So,  $= S - \omega$ . Thus,  $\sum_{n=n_0}^{\infty} a_n$  exists and w $\sum_{n=n_{o}}^{\infty} a_{n} = \sum_{n=1}^{\infty} a_{n} - (a_{1} + a_{2} + \dots + a_{n_{o}-1}).$ (=) Now suppose  $\sum_{n=n_0}^{\infty} a_n$  exists. Then,  $\lim_{k \to \infty} S_k' = S'$  for some  $S \in \mathbb{C}$ . As before we have  $S_{n_0+k} = W + S'_k$ . Thus,  $\lim_{k \to \infty} S_{n_0+k} = \lim_{k \to \infty} (w + S_k)$  $= W + \lim_{k \to \infty} S'_{k} = W + S'_{k}$ 



## (3) Let $n = \sum_{k=1}^{n} a_k = a_1 + a_2 + a_3 + a_4 + \cdots$ $S'_{h} = \sum_{k=1}^{n} b_{k} = b_{1} + b_{2} + b_{3} + b_{4} + \cdots$ and be the partial suns for the two series, Then $\lim_{n \to \infty} S_n = A$ and $\lim_{n \to \infty} S'_n = B$ .

(a) The partial sums fir the series  $\sum_{k=1}^{\infty} (a_k + b_k)$ are  $S_n^{II} = \sum_{k=1}^{n} (a_k + b_k) = \sum_{k=1}^{n} a_k + \sum_{k=1}^{n} b_k = S_n + S_n^{\prime}$ .

Thus,  

$$\lim_{k \to 0} S_n'' = \lim_{k \to \infty} S_n + \lim_{k \to \infty} S_n' = A + B$$

$$\lim_{k \to \infty} S_n + \lim_{k \to \infty} S_n + \lim_{k \to \infty} S_n + \frac{1}{2} +$$

Thus,  

$$\lim_{n \to \infty} S_n^{(II)} = \lim_{n \to \infty} (\alpha S_n) = \alpha \lim_{n \to \infty} S_n^{(II)} = \lim_{n \to \infty} (\alpha S_n) = \alpha \lim_{n \to \infty} S_n^{(II)}$$

$$\stackrel{\text{property of}}{\underset{sequenceo}{\text{sequenceo}}}$$

$$= \alpha A \cdot S_0, \quad \sum_{k=1}^{\infty} \alpha q_k \text{ converges}$$

$$+ \sigma \propto A \cdot S_0^{(II)}$$

(4)  
Let 
$$S_n = a_1 + a_2 + \dots + a_n = \sum_{k=1}^n a_k$$
 denote  
the n-th partial sum of the series.  
(=D) Suppose that  $\sum_{k=1}^{\infty} a_k$  converges.  
Then  $(S_n)_{n=1}^{\infty}$  converges.  
Then  $(S_n)_{n=1}^{\infty}$  converges.  
Thus,  $(S_n)_{n=1}^{\infty}$  is a Cauchy sequence.  
Let  $E > 0$ .  
Then since  $(S_n)$  is a Cauchy sequence  
there exists N>0 where if  
 $n, m \ge N$  then  $|S_m - S_n| < E$ , (\*)  
Let  $n \ge N$  and  $m = n + p$  where  $p \ge 1$ .  
Let  $n \ge N$  and  $m = n + p$  where  $p \ge 1$ .  
Then,  $m \ge N$  also and  
Then,  $m \ge N$  also and  
 $S_m - S_n |= |S_{n+p} - S_n| = |\sum_{k=1}^{\infty} a_k - \sum_{k=1}^{\infty} a_k| = |\sum_{k=n+1}^{n+p} a_k|$ 

(=) Suppose that for every ETO  

$$\exists N \ge 0$$
 so that if  $n \ge N$  then  $|\sum_{k=n+1}^{\infty} a_k| < \varepsilon$   
for  $p=1,2,3,...$   
We can use this to show that  $(S_n)_{n=1}^{\infty}$   
is a Cauchy sequence.  
Let  $\varepsilon \ge 0$ .  
Then from our assumption there exists  $N \ge 0$   
Then from our assumption  $\int_{n+p}^{n+p} a_k | < \varepsilon$   
where if  $n \ge N$  then  $|\sum_{k=n+1}^{\infty} a_k| < \varepsilon$   
for  $p=1,2,3,...$   
Let  $n,m \ge N$ .  
Without loss of generality suppose  $m \ge n$ .  
Without loss of generality suppose  $m \ge n$ .  
Then,  
 $|S_m - S_n| = |S_n - S_n| = 0 < \varepsilon$ 

Case 2! Suppose 
$$m \ge n$$
.  
Then  $m = n + p$  for some  $p \ge 1$ .  
Then  $m = n + p$  for some  $p \ge 1$ .  
Then  $m = n + p$  for some  $p \ge 1$ .  
Then  $m = n + p$  for some  $p \ge 1$ .  
So,  $|S_m - S_n| = |\sum_{k=1}^{n+p} a_k - \sum_{k=n+1}^{n} a_k| = |\sum_{k=n+1}^{n+p} |C|$   
From the two cases we see that  
given  $m, n \ge N$ , then  $|S_m - S_n| < \varepsilon$ .  
So,  $(S_n)_{n=1}^{\infty}$  is Cauchy.  
Thus,  $(S_n)_{n=1}^{\infty}$  converges.  
Hence  $\sum_{k=1}^{\infty} a_k$  converges.

5) Let 
$$S_n$$
 be the partial sums  
of  $\sum_{k=1}^{\infty} a_k$  and  $S'_n$  be the partial sums  
of  $\sum_{k=1}^{\infty} b_k$ .  
(a) Suppose  $\sum b_k$  converges.  
Let  $\sum 70$ .  
By the Cauchy criterion for series (problem Y)  
there exists N70 so that if  
 $n \ge N$  then  
 $b_{n+1} + b_{n+2} + \dots + b_{n+p} | < \Sigma$   
 $b_k$  are possible  
 $for all p \ge 1$ .  
for all  $p \ge 1$ . Thus, by the Cauchy  
criterion for series (problem 4),  $\sum_{k=1}^{\infty} a_k$  converges

(b) (See here)  
Suppose that 
$$\sum_{k=1}^{\infty} a_k$$
 diverges.  
Thus,  $(S_n)_{n=1}^{\infty}$  diverges.  
Note that since each  $a_k > 0$ , the  
sequence  $S_n = a_1 + a_2 + \dots + a_n$  is  
an increasing requence.  
If  $(S_n)_{n=1}^{\infty}$  was bounded, then by the  
monotone convergence theorem in  
monotone convergence theorem in  
monotone convergence theorem in  
thus,  $(S_n)_{n=1}^{\infty}$  is valounded, ie  $s_n \rightarrow \infty$   
Thus,  $(S_n)_{n=1}^{\infty}$  is valounded, ie  $s_n \rightarrow \infty$   
Thus,  $(S_n)_{n=1}^{\infty}$  is valounded, ie  $s_n \rightarrow \infty$   
Since  $a_{1k} \leq b_{1k}$  for all  $k$ , this  
Since  $a_{1k} \leq b_{1k}$  for all  $k$ , this  
tells us that  
 $S_n = a_1 + a_2 + \dots + a_n$   
 $\leq b_1 + b_2 + \dots + b_n = S_n'$   
ie  $S_n \rightarrow \infty$  as  $n \rightarrow \infty$ . So,  $(S_n')_{n=1}^{\infty}$   
ie  $S_n' \rightarrow \infty$  as  $n \rightarrow \infty$ . So,  $(S_n')_{n=1}^{\infty}$ 

G(a) (unsider the sequence  $\sum_{n=1}^{\infty} \sin(\pi i^n)$ 

Note that Note that  $Sin(\pi \lambda) = \frac{e^{\lambda}(\pi \lambda)}{2\lambda} = \frac{-\lambda(\pi \lambda)}{2\lambda}$  $=\frac{-\lambda}{2}\left(e^{-\pi}e^{\pi}\right)\neq 0$ 

$$Sin(\pi \lambda^{2}) = Sin(-\pi) = 0$$

$$Sin(\pi \lambda^{3}) = Sin(-\pi \lambda) = -Sin(\pi \lambda) = \frac{1}{2} \left[ \frac{e^{-\pi}}{e^{-\pi}} \right]^{\frac{1}{2}} 0$$

$$\frac{4680}{5in(-2) = -Sin(2)}$$

$$Sin(\pi i^{4}) = Sin(\pi) = 0$$

$$Sin(\pi i^{5}) = Sin(\pi i) = -\frac{1}{2} [e^{\pi} - e^{\pi}] \quad i^{4} = 1$$

$$Sin(\pi i^{6}) = Sin(\pi i^{2}) = 0$$

$$Sin(\pi i^{6}) = Sin(\pi i^{2}) = 0$$
The terms alternate between
the above four numbers and
the above four numbers and
the above four numbers and
the divergence than, this
the divergence than, this

6) (c) Suppose 
$$|z| < 1$$
.  
Then,  $\sum_{n=1}^{\infty} |z^n| = \sum_{n=1}^{\infty} |z|^n$   
 $= |z| + |z|^2 + |z|^3 + \cdots$   
 $= |z| [1 + |z| + |z|^2 + \cdots] = |z| \frac{1}{1 - |z|}$   
from class

Thus,  $\sum_{n=1}^{\infty} \mathbb{Z}^n$  converses absolutely if  $|\mathbb{Z}| < |$ .

$$G(J) \quad Suppose \quad |z| \neq 1,$$
  
If  $|z|=1$ , then  

$$\lim_{n \to \infty} |z^n| = \lim_{n \to \infty} |z|^n = \lim_{n \to \infty} |z|^n = 1$$

If 
$$|Z|>1$$
, then  
 $\lim_{n \to \infty} |Z^n| = \lim_{n \to \infty} |Z^n| = \infty$   
In either case  
 $\lim_{n \to \infty} |Z^n| \neq 0$   
Thus, if  $|Z| \ge 1$ , then  
 $\lim_{n \to \infty} Z^n \neq 0$   
 $n \to \infty$   
So, by the divergence test  
 $\sum_{n=1}^{\infty} Z^n$   
diverges if  $|Z| \ge 1$ .

(8)(a)Consider the k-th partial sum  $S_{k} = \frac{1}{1} + \frac{1}{2} + \frac{1}{3} + \dots + \frac{1}{k}$ We will show that  $(S_k)_{k=1}^{\infty}$ í s converge. hence cannot unbounded and We look at a sub-series. Note that  $S_{2^{\circ}} = S_{1} = 1$  $S_{2'} = S_2 = \left[ + \frac{1}{2} \right]$  $S_{2^2} = S_{4} = [+ \frac{1}{2} + (\frac{1}{3} + \frac{1}{4})]$  $\geq 1 + \frac{1}{2} + \left(\frac{1}{4} + \frac{1}{4}\right)$ = | + 글 + 글 = | + 2· 늘

$$S_{23} = |+\frac{1}{2} + (\frac{1}{3} + \frac{1}{4}) + (\frac{1}{3} + \frac{1}{4} + \frac{1}{4}) + (\frac{1}{3} + \frac{1}{4} + \frac{1}{4})$$

$$\geq |+\frac{1}{2} + (\frac{1}{4} + \frac{1}{4}) + (\frac{1}{8} + \frac{1}{8} + \frac{1}{8} + \frac{1}{8})$$

$$= |+\frac{1}{2} + \frac{1}{2} + \frac{1}{2} = |+3\cdot\frac{1}{2}|$$

In general,  

$$S_{2^{k}} \neq [+k \cdot \frac{1}{2}]$$
  
Thus,  $S_{2^{k}} \rightarrow \infty$  as  $k \rightarrow \infty$ .  
Therefore,  $(S_{k})_{k=1}^{\infty}$  is unbounded  
and thus diverges.  
 $S_{0}, \sum_{n=1}^{\infty} \frac{1}{n}$  diverges.

(b) Let 
$$p \in \mathbb{R}$$
 with  $p \leq 1$ .  
Case 1: Suppose  $p=1$ . Then  $\sum_{n=1}^{\infty} \frac{1}{n^{p}} = \sum_{n=1}^{\infty} \frac{1}{n}$   
which diverges by 8(a).  
Case 2: Suppose  $p < 1$ .  
Then,  $\frac{1}{n^{p}} > \frac{1}{n}$  for all  $n \geq 1$ .  
Thus, by the comparison test  
Thus, by the comparison test  
 $\sum_{n=1}^{\infty} \frac{1}{n}$  diverges, so does  $\sum_{n=1}^{\infty} \frac{1}{n^{p}}$ .